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Snell’s Law Practice Worksheet

1) For the drawing to the right, find ns.
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2) For the drawings below, state whether ny is bigger than n», n2 is bigger than ny, or n; is equal to no.

a)

b)
o |
'
: B
;“jf)z o
; 4 inf

Indexes of Refraction

Air or vacuum: 1.00

Barium glass: 1.60

Water: 1.33

Flint glass: 1.70

CR39: 1.498

Polycarbonate: 1.586

| Crown Glass: 1.523

Diamond: 2.45

1. A ray of light traveling from air into crown glass strikes the surface at an angle of 30 degrees. What will the
angle of refraction be?

N,5itQ;>n,5485

b2

index of the second medium?

(Ve

8in 91’ =

?

¢ s’

n=% S 27004
G 3xlp?

ns T nEs——
7 970

A

N,57u« B¢ g 3149 ;
/21 4 9;—:3;‘4[{3 t)

n={ t1

HE §, 545

(row uojfm 3

o ¥ a".
Qr:sm ,{foff_{—-

er=14.7°

Light traveling through air encounters a second medium which slows the light to 2.7 x 10%m/s. What is the

1.57%

Light travels through a substance at 1.97 x 10* m/s. What is the index of the liquid? What type of liquid is it?
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4. What is the index of refraction of a refractive medium if the angle of incidence in air is 30 degrees and the
angle of refraction is 15 degrees?
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5. Ifthe angle of incidence of light traveling through air, striking water, is 30 degrees, what is the angle of
refraction?
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6. Ifthe index of refraction for a certain glass is 1.50, and the angle of refraction is 15 degrees for a ray of light
traveling from air, what is the angle of incidence?
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7. What is the velocity of light in meters per second in a material with an index of 2.0?
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8. A light ray moving through CR39 at an angle of 49 degrees exits into another medium at an angle of 27.48
degrees. What is the index of the second medium? What is this medium?
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9. If'the incoming angle from the air is 20" from the normal.
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a. What angle is light traveling through each of
the mediums below:
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b. How does the final angle of the light in air compare to the initial angle of light in air?
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